Al & -

il

= ICfTEEE D

13:20-13:50 838 & AR 0 &7 L1k
13:50-14:20 WA FE T B & lFEWNWH 2T &
14:20-14:50 ChatGPTZ{#E » THA & S
14:50-15:00 £ ¢ H B Z A L

=W

HIKRFEN BRREIKRTE IFEH
HMEEERS X T LITER
AR EHEZ




(s

https://web.tuat.ac.jp/~s-hotta/TAIKEN/

ETAERH TTHRERELEZER—DOURLOEAIC
TAIKEN




RolAlign|

Mask R-CNN framework. Source:
https://arxiv.org/abs/1703.06870
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ChatGPT

4 N

Capabilities Limitations

Examples

"Explain quantum Remembers what user said May occasionally generate
computing in simple terms" earlier in the conversation incorrect information
_)

Allows user to provide May occasionally produce
"Got any creative ideas for a follow-up corrections harmful instructions or
10 year old’s birthday?" = biased content

Trained to decline
"How do | make an HTTP inappropriate requests Limited knowledge of world
request in Javascript?" - and events after 2021

CZIINEBEZAMNTHEL &£ 9

Free Research Preview. ChatGPT may produce inaccurate information about people, places, or facts. ChatGPT July 20 Version
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Sure! Let's have a conversation in English. Here's a question to start
with:"What are your hobbies or interests? Is there something you enjoy
doing in your free time?"

my hobbies are playing game. Is this sentence is natural?

Yes, your sentence is almost natural! Just a small correction:
“My hobby is playing games.” Since you mentioned that playing games
is your hobby, we use the singular form “hobby” and “is” instead of
“are.” Also, we say “playing games” instead of “playing game” because
“games” is the correct plural form of “game.” Keep up the good work!
Is there a specific game you enjoy playing the most? Or do you have any
other hobbies you'd like to talk about? Feel free to share more!
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